

285 FEATHER POINT N, JUPITER, FL, 33458

https://ritterproperties.com

THE BEST OF JUPITER! Custom 3BR/3BA(option for 4th BR) oversize Family Room and 2-Car Garage. Beautifully designed & maintained-Spacious/Open floor plan-Hi Ceilings-Crown Moldings-Lighted glass-front Kitchen Cabinets- Granite Counters-Tile floors-Glass enclosed Patio-Central Vac-Newer Tile Roof-New Water Heater-Lushly landscaped Grounds-Room for a Pool. All systems in excellent order. Quiet/Family-Friendly, including only SF Homes in prime location E [...]

- 3 beds
- 3 baths
- Residentia
- Single Family Residence
- Active
- 2489 sq ft



This site can't load Google Maps correctly.

Do you own this website? g.co/staticmaperror/signature



Basics

Date added: Added 4 weeks ago

Type: Residential **Bedrooms: 3** beds

Half baths: 0 half baths

Area: 2489 sq ft

SubdivisionName: EGRET LANDING AT

JUPITER, EGRET LANDING

GarageSpaces: 2

ListAOR: Miami Association of REALTORS®

Category: Single Family Residence

Status: Active

Bathrooms: 3 baths

Total rooms: 13

Lot size, sq ft: 10533 sq ft

ListOfficeName: Water Pointe Realty

Group

View: Garden, Golf Course

MLS ID: A11643110

Rooms



| Room type | Dimensions | Area | Length | Width |
|----------------|----------------|------|--------|-------|
| DiningArea | 9 X 5 | 45 | 9 | 5 |
| SecondBedroom | 15 X 11 | 165 | 15 | 11 |
| LivingRoom | 25 X 15 | 375 | 25 | 15 |
| ThirdBedroom | 11 X 10 | 110 | 11 | 10 |
| PrimaryBedroom | 23 X 14 | 322 | 23 | 14 |
| FamilyRoom | 27 X 15 | 405 | 27 | 15 |
| Kitchen | 21 X 15 | 315 | 21 | 15 |
| Porch | 27 X 12 | 324 | 27 | 12 |
| DiningRoom | 12 X 12 | 144 | 12 | 12 |
| UtilityRoom | 6 X 6 | 36 | 6 | 6 |
| Porch | 24 X 7 | 168 | 24 | 7 |
| Grt Rm | GARAGE 21 X 19 | | | 19 |
| Other Room | FOYER 5 X 4 | | | 4 |

Building Details



Cooling features: Ceiling Fan(s), Central Air,

Electric

ArchitecturalStyle: Detached, One Story

Building Name: EGRET LANDING AT JUPITER

Roof: Concrete, Flat Tile

Parking: Circular Driveway, Driveway

Year built: 2000

NewConstructionYN: No

Exterior material: CBS Construction

Heating: Central, Electric, Reverse Cycle

Unit

Amenities & Features

Features: Attic, Built-in Features, Closet Cabinetry, Entrance Foyer, Family Room, First Floor Entry, Laundry Tub, Roman Tub, Split Bedroom, Utility Room/Laundry, Volume Ceilings, Walk-In Closet(s)

Amenities: Dishwasher, Disposal, Dryer, Electric CommunityFeatures: Additional Amenities, Range, Electric Water Heater, Free-Standing Freezer, Ice Maker, Microwave, Refrigerator, Self Cleaning Oven, Washer

WindowFeatures: Complete Panel Shutters/Awnings, Hurricane Shutters, Arched Windows, Blinds, Plantation Shutters

Waterfront available: No **AttachedGarageYN:** Yes

PoolPrivateYN: No

Security Features: Curr Owner Wind Mitig Cert Avail, Owned Burglar Alarm, Smoke Detector

Clubhouse, Pool, Tennis Court(s), Exercise Room, Game Room, Maintained Community, Management On Site, Mandatory Hoa, Paved Road, Public Road, Security Patrol, Sidewalks, Street Lights

ExteriorFeatures: Lighting, Fruit Trees, Outdoor Shower, Room For Pool

GarageYN: Yes CoolingYN: Yes FireplaceYN: No

